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ECONOMICS — GENERAL
Paper : DSE-A-1 and DSE-A-2

Candidates are required to give their answers in their own words
as far as practicable.

Paper : DSE-A-1
(Money and Banking)
Full Marks : 65
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[English Version]
The figures in the margin indicate full marks.

Group - A

. Answer any fen guestions :

(a) Mention the names of two financial intermediaries.

(b) What do you mean by M, and M,?

(¢) What is money multiplier?

(d) Write two important functions of financial market.

(e) What is meant by demonetisation?

(f) If CRR is 20%, what will be the value of money multiplier?

(g) What is reverse repo rate?

(h) What is the difference between Nominal Interest Rate and Real Interest Rate?
(i) Mention two differences between money market and capital market.
() Mention two limitations of Indiar Money Market.

(k) What do you mean by deficit spending unit?

(I) What is the difference between CER and SLR?

(m) Mention two advantages of globalisation on Indian Money Market.
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Group - B

Answer any three questions : 5x3

(a)
(b)

Write a note on the selective credit control of banks.

What are the objectives of money market?

(c) Describe briefly the structure of India’s Money Market.

(d)
(e)

Write a note on high powered money.

What are the features of Indian Capital Market?

Group - C

Answer any three questions :

(a)

What do you understand by balance sheet of a business organization? Describe the balance sheet
of the commercial bank. 2+8

Discuss the process of credit creation of commercial bank. What are the limitations of this process
of credit creation? 6+4

What do you mean by financial intermediaries? Distinguish between bank and non-bank financial

intermediaries. 2+8

Define differential interest rate. What are the reasons for existence of this rate? 2+8

Discuss the recent changes in the monetary policy adopted by RBI in Indian. 10
r
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Paper : DSE-A-2
(Sustainable Development)
Full Marks : 65
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[ English Version ]

The figures in the margin indicate full marks.

Group - A

*

. Answer any fen questions : 2x10

(a) Write down two goals of ‘Sustainable Development’.
(b) What is Gaseous Cycle?

(c) Define Common Property Resources.
(d) What is Sustainable Livelihood?

(e) What is acid rain?

(f) What is ozone depletion?

(g) What is renewable resource?

(h) What do you mean by deforestation?
(i) What is Thermodynamics?

() What are emission rights?

(k) What is biodiversity?

() What is sustainable development?
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(m) What is economic accounting?
(n) Describe two outcomes of Rio Summit, 1992.

(o) Which environmental indicators are used to measure climate change?
Group - B

2. Answer any three questions : 5x3
(a) Describe Safe Minimum Standard Approach of Sustainable Development Rule.
(b) Describe the impact of economic activities on hydrological Cycle.
(¢) What are the social and economic effects of climate change?
(d) How does economics related to environmental issues?

(e) Explain the process of privatisation of common property resources in India.
Group - C
Answer any three questions.
3. Explain briefly nitrogen cycle and role of economic activity in influencing its velocity. 5+5

4. Explain the achievements and failures of the international agreements and protocols on environment in
solving the problem of global warming. 6+4

5. Is economic efficiency compatible with sustainable forestry? Define your answer. 10

6. What are some of the main issues in environmental pollution? Choose one local and one global problem
and explain their impact in some detail. 5+5

7. Distinguish between free-access resources and common-property resources. What are the problems
generally faced by common-property resources? Should common-property resources in India be
privatised? Explain. , 3+3+4



